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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het 
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op. 
 
 

Tekst 1  Looking for the one? 
 
“Most people are also on the show for overnight fame and 250,000 new 
followers” (alinea 1) 

1p 1 Welke zin verderop in de tekst komt op dit aspect terug? 
Citeer de eerste twee woorden van deze zin. 
 
 

Tekst 2  The fruit Iron Ox bears 
 

1p 2 What becomes clear about Iron Ox in paragraph 1? 
A It accelerates the process of vegetable development. 
B It is seeking a monopoly on automated crop raising methods. 
C It produces greens with the help of mechanical devices. 
D It uses people only to operate delicate machinery. 
 

1p 3 Which of the following fits the gap in paragraph 2? 
A are able to cater for individual needs 
B can be located nearer to customers 
C grow exotic vegetables out-of-season  
D produce no waste or surplus products 
 

1p 4 Hoeveel verschillende nadelen van Iron Ox worden in alinea 3 genoemd? 
Noteer het aantal. 
 

1p 5 How can the tone of paragraph 4 be characterised? 
A as ironic 
B as surprised 
C hopeful 
D unconvinced 
 


